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201 Bt 32,900 23,600 9,300
01 At 22l bl 1,440 1,200 240
OnNges #+¢ 120,000& ~12& 1,440
03 A2 H HI 31,460 22,400 9,060
OL A= 31,460
o BAZZ I (602)
70,000& 72 *14 Xt Al %23 13,720
0 AT 28 (1202)
110,000& 12«14 Xt Al %23 3,080
o ¥ uWE 100,000 x34 *x 14Xk Al x23] 8,400
o ¥EtuE 110,000 »2Z x4 Xt Al %23 1,760
0o EA2ED 50,0003 *32 *30 X} Al 4,500
SN EA 2H[S ] 9,000 10,500 A 1,500
201 Yet2 | 9,000 10,500 A 1,500
03 &AL EHI 9,000 10,500 A 1,500
OSHMSsHs AL i = 3,000,000 *33| 9,000
SN BEQ2 2Y[SE] 175,280 139,625 35,655
101 2121 4| 136,000 102,505 33,495
04 JI2ZtHIZ22XNSE S 136,000 102,505 33,495
OJ2ZHZZXHAIMEZ) S0 51,840
oJlEa=2 80,0003 *2H x5 x523= 41,600
o FETY 80,000& *x2Y %52 8,320
o vtraaY 80,000& x2H x12& 1,920
OJIZtHZ2ZH(EFEX) 20 25,920
o JlE=2 80,0003 * 1Y x5 x52 20,800
oFExY 80,000& 1Y x523= 4,160
o vtraaY 80,000& x1H ~12& 960
QHAIZAZZI(FY) 20
70,0003 *»8YH »2 2 523 58,240
201 Lt 2| 1,840 1,840 0
01 At 22l bl 1,840 1,840 0
OBxXH 2HES 40,000& x23| x23H 1,840
301 et A= 37,440 35,280 2,160
12 JIEtE &2 37,440 35,280 2,160
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SN GHSHET A
Ha: Mot CA 290 e
g2l SEIMOB0=A2 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 26,800
405 XHoHF S HI 4,200 3,900 300
Al 4,200
01 et = FH 4,200 3,900 300
Oz & k& 4,200,000& =14 4,200
Al 4,200
S M2 HAAIAE 68,379 89,581 A 21,202
Al 25,550
T 42,829
201 Let2d] 42,829 41,091 1,738
01 At 22l 3,000 3,825 A 825
OFSFAEASR_ 3,000,000& 3,000
02 =24l 39,829 37,266 2,563
OHAAIAE 32,629,000 » 14! 32,629
Oggst 3l 600,000 »12& 7,200
401 AIEHIZ = 1,500 0 1,500
Al 1,500
01 A& tl 1,500 0 1,500
ORZAA 1,500, 000& 14! 1,500
Al 1,500
405 XHoHF S HI 24,050 48,490 A 24,440
Al 24,050
01 ML EZFE 24,050 48,490 A 24,440
OREAHYAIA
21,285,000 » 14! 21,285
Al 21,285
ORFID AtME2IHII 7Y 2,765,000 » 14! 2,765
Al 2,765
H=0lEMat 29 560,837 456,222 104,615
= 25,632
- 535,205
SN2 & s [aHeE0l] 169,894 158,631 11,263
201 et 42,010 46,781 N4 TTA
01 Al 2+2/H 41,374 46,119 A4, 745
O=HM2d 223 4,314
o SMNIAE 1,000& *2,000H 2,000
o ol EAl 30,000& »15JH4 450
o =SNSE 2,000& 2004 400
os¥E &I 22 55,000 *54 275
o EHE AMOIE HIOIZ 30,0003 *3H 90
0o SNSE 2e 33,000 *20H 66
o 2@E &I 2cld HE 11,0003 *3H 33
o BFJIZ&EE) EX 100,000 10 A 1,000




SN GHSHET A
Ha: Mot CA 290 e
ool HENTHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OX& MARCEH Y ZL HbBl&HbI
1,110& *8,000 8,880
OENMAEZ A2F 10,800,000& 10,800
OS3SIE A MHIA 2SHES 790
o 2H EE 49 H& 50,000& =74 350
o S3 ACIE HH 440,0003 *14] 440
O&FJI2dHE =8 16,590
o & Xl 10,0003 x90& *12& 10,800
o dME 15,000& x 125 x12& 2,160
o CIXEAZ 30,2503 *10&5+12& 3,630
02 352494l 636 662 N 26
Odla2%*E 72 200,000& 200
o2 3303 *110H x12& 436
203 R =&lY| 1,700 1,850 A 150
03 Al =X H R =X Y| 1,700 1,850 A 150
OMSOTHE 29 NHZHALEFY]
1,700,000& 1,700
401 AIEHIL 20| 880 0 880
01 Al& bl 880 0 880
OCIXtol A H A 880,000& 880
405 XHakF SHI 125,304 110,000 15,304
01 A&t =S F SHI 18,304 0 18,304
o6t Mo ¢ 3,057,800& x5H 15,289
ogeg A 780,200& 34 2,341
OXNZHAM 674,000 =14 674
02 &M+ H| 107,000 110,000 A 3,000
OEMTY 100,000,000 100,000
O"lEMdze 7,000,000 7,000
eIl 2H[H=0l] 18,020 12,260 5,760
201 Yet2 | 18,020 12,260 5,760
01 AFR2 22l Yl 1,200 420 780
OnNses #+¢ 100,000& = 12& 1,200
03 A2 H H| 16,820 11,840 4,980
OL A= 16,820
o MIIWSE(AHQl) 110,000& x4 * 14Xt Al 23] 12,320
o EM2E W 50,0003 *32& *30 Xt Al 4,500
SN2 A 2 [HE0l] 22,320 16,320 6,000
201 LEt2 Y| 19,180 16,220 2,960
01 AL 22| 4,600 2,200 2,400
O#ASE 2 4,100
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R HETAZ 2 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
0 SN2 A 22 500,000 33| 1,500
o E3t ¢l T2 =2 1,000, 0008 1,000
o Oz X A| 80,000& x20H 1,600
OEEZE H& 500,000 =14l 500
03 A2 G H| 14,580 14,020 560
OS KNS AL i = 1,500, 000 33| 4,500
OSSN g T2 29 5,880
o (&, D&M M) =& LAIZS
280,000 *23| 560
o EciE ctolEdel 280,000 x4 3| 1,120
o I8 H&E dAME 280,000& x153] 4,200
OIS AHAEA 280,000& x153] 4,200
405 XHAHF S HI 3,140 100 3,040
01 XAt 2 ZF S| 3,140 100 3,040
OogAZ Hol2 2 314,000 = 100K 3,140
22 AZ A2 AEXR ALY [ E0I] 54,170 46,799 7,371
= 25,632
5 28,538
101 2121 d| 53,270 44,999 8,271
= 25,632
- 27,638
04 JIZtHI22XNSES 53,270 44,999 8,271
OJIZtHZ22 X% 20¢ 53,270
oJlea 1,745, 150& 2 128 41,884
= 20,942
- 20,942
o4l B8 = 245,420 x2H x 128 5,891
=2 2,945
- 2,946
o El&2 1,745,150 x2H 3,491
= 1,745
- 1,746
SN E ==y =y 66,800 2 15 2,004
201 L2 | 900 1,800 900
03 HAI2 HHI 900 1,800 A 900
OO0zt S2stE =22 I =| 450,000 x23| 900
SHR 2EoE 2 [HE0l] 163,360 127,567 35,793
101 Q124 4| 140,080 105,547 34,533
04 JI2ZtHIZ22NEES 140,080 105,547 34,533
OJIZEMZZAHAIAER) 20 51,840
o JlE2 80,000& »2H x5 523 41,600
o FE4Y 80,000& x2&H x523= 8,320
SN E ==y =y 80,000& 2 x12& 1,920
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SN HSESENB
HE: Mols TA 290 Ha
Sl HEOTHY 29 (er:@e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OCENZ 9% 238 A2 A
13,750,000% * 14! 13,750
405 Tkt St 2,724 0 2,724
01 AL E B SH 2,724 0 2,724
ozg Y 1,494,0002 1,494
OsE=(m28)|) 7 410,000% +304 1,230
SHE HAMAAEY 22l[HE0l] 56,832 34,482 22,350
201 et I H| 34,822 34,482 340
01 At 22l bl 4,000 3,000 1,000
OHMALDE DY 4,000,000% 4,000
02 ZZ2YH| 30,822 31,482 660
OBMAAY S8 RAB4 23,622,000 14 23,622
OQUEY SHE 600,000% * 122 7,200
401 AIEHI L S THHI 1,320 0 1,320
01 Al HI 1,320 0 1,320
OPYN A LA 1,320,000 *14} 1,320
405 ThoH3 St 20,690 0 20,690
01 oL 2 E 3 St 20,690 0 20,690
OU-ADIEAIIAIAE 20t & X
3,685, 0002 *4CH 14,740
OSMSIXIOtLiNap B2AIAE
5,500,000 *14] 5,500
OSMZME SAANAE 29 450,0002 «1CH 450
HEEUCT N 2Y 569,964 1,369,569 799,605
2 25,632
? 544,332
SHE® o2 Y NHEHE[HE] 122,872 49,589 73,283
201 et FH| 33,172 14,989 18,183
01 At 22l bl 32,718 14,650 18,068
OSAHaR SASE 3.564
SV ELES 1,000% *2,0000H 2,000
SEVEE 1, 4002 ¥5007H 700
o BEA 15,000 +204 300
osEE &2 ol 55,0002 34 165
0o SHEF 2= 33,0002 *2JH 66
0 S¥E B3| Baly HE 11,0002 <3} 33
0o ¥PIsEAI| X 100,000 38} A 300
OXE WRCEHE X FHIZ ]
1, 1102 +7,00004 7,770
OEHF2l 223 8.400,0002 8,400
OZJIAYE ISE 2,984




S GaHST N
M Mol T A 29| o
CHel: HMEEUT AT 29 (o9 ®8)
SA-ES O (BH) - ALY - HES 0l & o8 SSa HDS2
o & X 10,0002 »93% 128 11,160
odle 15,2008 x 105 * 122 1,824
02 2229 454 339 115
OblatetZE gl 200,000 200
OB 3302 *642 * 128 254
203 QIR =AY 1,700 600 1,100
03 Al R Z=Z Q=TI 1,700 600 1,100
OHBIEYCT N AMZRY2 XY
1,700,000 1,700
405 XHaHE SH 88,000 34,000 54,000
02 AT 88,000 34,000 54,000
OEHTY 80,000,000 80,000
OHEMTRY 8,000,000 8,000
DST20Y 2 [ME] 96,300 8,300 88,000
201 Yer2 oy 96,300 8,300 88,000
01 At 22/ 67,440 700 66,740
OongesE 7 120,0002 122 1,440
O&MEY 2 Planetarium Software 7 &
66,000,0002! *14! 66,000
03 # AL 2 & H 28,860 7,600 21,260
OAAE 28,860
0 IS (OIS) 70,0008 x62 * 16Xt Al x23] 13,440
0 HIIMS(HQl) 110,0008 x22 * 16Xt Al x23] 7,040
I ImES 70,0002 *32 *4%} Al +23] 1,680
o TABED 50,000 *12tx30X} Al x3 4,500
0 USAUBTMB 55,0008 *12*10XF Al *43] 2,200
SN2 HA 2 [H] 10,500 17,500 A7.,000
201 Yer2 oy 10,500 5,500 5,000
03 A2 L 10,500 5,500 5,000
OSAHE5H8 AL A 2,500,000 *33] 7,500
OB&0I3EH0 2 500,0002 *63] 3,000
TN HZAIZ AR A [LE] 54,170 0 54,170
=2 25,632
=) 28,538
101 @24 b 53,270 0 53,270
=2 25,632
=) 27,638
04 JI2H22NEES 53,270 0 53,270
OJIZH22X 20 53,270
PEE 1,745, 1502 %22 » 122 41,884
=2 20,942




SN HAHSTHB
Ha: mols TA 2900| &
Sl MSBUC AT 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 20,942
odUEE = 245,420 x2H « 123 5,891
= 2,945
T 2,946
o &&= 1,745,150& »2H 3,491
= 1,745
- 1,746
o AXtRE=¢ 66,8003 x2H x152 2,004
201 Let2dE] 900 0 900
03 &Ar2 I 900 0 900
OO0f2t 2stEZZ2 8 = 900,000& x13] 900
SNZ BxoE 2g[H5H] 200,880 99,635 101,245
101 @124l 180,560 78,455 102, 105
04 JIZHHZ2XNSE+ 180,560 78,455 102, 105
OJIZHZEX(MNEE) S0 51,840
oJlE=a 80,000 x2H x5 «525 41,600
o FFETE 80,0003 »2H «x52=F 8,320
o AXtRE=+¢ 80,000 x2H 128 1,920
OJIZHMZEI(EEEX) =0 77,760
oJlea 80,000 *3H 52 x52F 62,400
o FFExE 80,0003 x3H «52=F 12,480
o AXtRaE=¢ 80,000 »3H » 122 2,880
OHAIZIZZX (L) =0
70,0003 7 22 «52F 50,960
201 Let24E] 1,600 1,680 A80
01 At 22l 1,600 1,680 A 80
Oxed 2H=3 40,000& *23] »20H 1,600
301 et A3 18,720 19,500 A 780
12JE243 18,720 19,500 AT780
OMANEROl &HIE4S
15,0003 x6H 42«52 18,720
CAZ FAL L ANEE A2 [dE] 65,636 40,045 25,591
201 -4 63,236 36,891 26,345
01 At 22l 10,187 1,420 8,767
Oget=&H| 2,000,000& 2,000
O3J18&FJ| gz 504,700 »12& 6,057
O&=J Xz 155,000& =128 1,860
OF=D| A4 15,000 =184 Xt 270
02 =224l 53,049 35,471 17,578
O332= 37,800
o MIIR3 1,600,000& »12& 19,200
o EANARS 1,300,000& 12 15,600




SN GHSHET A
Ha: Mot CA 290 e
Sl MSBUC AT 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o &Tt+=ERS 250,000& 12 3,000
OFALAI 2 & 2 176
o &I &Il ZAtH| 120,560& =13 121
o JtAOHM A HI 55,000& x13] 55
O&Jletd &gl 89 124,000& =128 1,488
OAagotdate] 29 125,400 128 1,505
OsZINES Y 120,000& = 12& 1,440
OENMZALASE B24Y 300,000& »12& 3,600
OFM &M A= 80& +33,000& 2,640
OZSMNZ A8 H A 1,400,000 =14l 1,400
OEM& AIEEH KX H 3,000,000& 3,000
307 gl2tol & 2,400 3,154 AT754
05 BIZHRI & 3 2,400 3,154 AT754
Oofelddl 4 200,000& »12& 2,400
THZ FAAIAE B2 [ME] 19,606 8,500 11,106
201 L2l 19,606 8,500 11,106
01 At 22l 3,000 2,500 500
O&a AB8F+Y 3,000,000& 3,000
02 =24l 16,606 6,000 10,606
OFMALE SXNE = 9,405,500 » 14! 9,406
oelgy sldz 600,000& =128 7,200
AT N 29Y 2,150,079 0 2,150,079
g A2 o2 XA 1,971,227 0 1,971,227
201 L2l 75,980 0 75,980
01 At 22l 65,980 0 65,980
O & AHl 3,000,000& x14 3,000
Ogt=&H| 6,000,000& 6,000
O=AN3d 2E=S 5,780,000 5,780
OXE MARCH Y % ZH| &
1,110& %20, 0004 22,200
OENMEL 422 24,000,000 24,000
OO0IZtLH X X = 5,000,000& x13| 5,000
03 At Z I 10,000 0 10,000
O 24 10,000, 000& *13] 10,000
401 Al HIZ 201 I 1,141,687 0 1,141,687
01 A& HI 1,141,687 0 1,141,687
Oel2gdd £AE4 50,682,060 » 14 50,683
Ocl2ed A 1,000,000& 1,074 m 1,074,000
Ocl2gd SA & 15,003, 780& 14! 15,004
ForFH £XSAt 2,000,000& 2,000




SN HASHSATNB
M Mols T A £900| &
el HRIC AP 29 CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tF S HI 753,560 0 753,560
01 A =S FHSH 488,560 0 488,560
OARAEI F¢ 4,000,000& 14! 4,000
O+ 2¢ 134,559,360 & * 14| 134,560
OFAMAIAE F2 350,000,000& » 14! 350,000
02 =AM 265,000 0 265,000
OM&EN 2 255,000,000& 255,000
OHlEA=7Y 10,000, 000& 10,000
SEMsldae ¥ HeEs(Ze] 65,428 0 65,428
201 fEt2E | 15,578 0 15,578
01 At 22l bl 15,318 0 15,318
OXtE MARCHZ & FHI&H
1,110& =4, 0004 4,440
OEMER 425 4,800,000 4,800
oFJlitdlEs =g 6,078
o &X 10,000& x50E 62 3,000
o tl&E 15,0003 * 105 +6E 900
o LINIEM=Z 36,300 x 105 +6E 2,178
02 5524t 260 0 260
Ooblgss 7 200,000& 200
oRER= 3303 60 »3& 60
203 &R =AY 500 0 500
03 Al FTPR=AHI 500 0 500
O2e A& 2 AHFULIFAH
500,000& 500
405 At&tF S HI 49,350 0 49,350
02 =M 49,350 0 49,350
O=AM-gHl 49,350,000 49,350
DDy 29(g] 10,400 0 10,400
201 2Bt Yl 10,400 0 10,400
01 Al 22! H| 600 0 600
Ousss 7 100,000 6 600
03 #AEEHI 9,800 0 9,800
Ok yN= 9,800
o dJlu= 70,0002 «8Z * 16Xt Al x13] 8,960
o Zstux 70,0002 «3Z *4 Xk Al x 12 840
SEMIsEAMN 2H[2E] 2,500 0 2,500
201 fEt2E | 2,500 0 2,500
03 A2 2,500 0 2,500
OSHEZaHA M 2,500,000 12| 2,500
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O=8&I dxz 275,000 «7& 1,925
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OENMELZ A2 F 21,600,000& 21,600
OO0l LAl M & 5,000,000& x 14! 5,000
03 A2 H H 10,000 0 10,000
O & A 10,000,000& *13] 10,000
401 Al HIL 201 27,000 0 27,000
01 A& HI 27,000 0 27,000
OUWEAMEZE HE 20,000, 000& *14] 20,000
Ooscto e 2¢ 5,000,000 5,000
OR021&dH &X3Al 2,000,000& x 14 2,000
405 XhAHE S| 706,110 0 706,110
01 JHAt = S F SHI 481,110 0 481,110
OM=R4A &I 2¢ 4,000,000& =14 4,000
O+ #+¢ 174,965, 2403 =14 174,966
O&EAAAE 20 302,143,730 x 14 302,144
02 & A7t 225,000 0 225,000
OMN&BE=AN P 215,000,000& 215,000
OHlE=EANd=7Y 10,000,000& 10,000
SHIRBE L NEHE[] 1,713 0 1,713
201 et A | 1,213 0 1,213
01 AFR22t2l Yl 1,013 0 1,018
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o CIXIEAE 36,300& 105 =12 363
02 3524l 200 0 200
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OAMMER0 89 (5=3s
15,000& #1124 x300 49,500
405 XH&HF SHI 108,691 112,300 N 3,609
01 A&t = S F SHI 18,691 2,300 16,391
Osd2s 242 29 18,691
o At &) ¢ 18,690, 390& 18,691
02 & A7 bl 90,000 110,000 A 20,000
OEMTYUHI(2E1E) 15,000,000& 15,000
OEAFYHI(2H2E) 15,000, 000& 15,000
OEMTYUHI(HE1S) 15,000, 000& 15,000
O AFYUHI (H425) 15,000,000& 15,000
OEAMFUHI(SE2E) 15,000, 000& 15,000
O AMFLHI(SE3S) 15,000,000& 15,000
MBS HZ X 87,350 87,350 0
Al 20,000
- 67,350
201 LEt2 Y| 6,950 6,950 0
01 AFR2t2ldl 850 850 0
O&Il=d T2y 28 7¢ 70,000& *53] 350
OXNd&soten ANad M 10,000& 508 500
03 S AFS H H 6,100 6,100 0
O&Il=d T 29 1,700
o dAtZ 280,000& *53] 1,400
o EEZ HZ& 300, 000& *13] 300
OXgesiisn 2g (et s) 1,200
o ZAE 150,000& *83] 1,200
OXeagsiisty 2H(M2WH) 3,200
o dAE 200,000& *22 «83| 3,200
203 ¢ R E A Y| 400 400 0
03 Al ZEZ R =AY 400 400 0
ORSETHZ 2% NUZHALEAY|
400,000& 400
307 QI2t0| M 40,000 40,000 0
02 DI2HEAAIEE X 40,000 40,000 0
OXSENE SAHASFEZZ NS 29 XA
40,000,000 * 14! 40,000
402 Q12+t X2 0| & 40,000 40,000 0
Al 20,000
- 20,000
02 QIZEXIEANEEX(0IMTHS) 40,000 40,000 0
OS2 NE 29843 N AH
40,000,000 * 14! 40,000




2N
X ZH -
L= B

el

o4 F Bt A B
sols TA BRI Y
RN 29
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Al 20,000
- 20,000

OIEA B3-S A2 S ALY 5,000 5,000 0
Al 2,500
- 2,500

201 Bt A H| 4,800 4,800 0
Al 2,400
- 2,400

01 At 22l bl 4,240 4,240 0
OoAREgE *¢ 120, 000& * 1Al 120
Al 60
- 60
Oz & M= 2,000& *2,060% 4,120
Al 2,060
- 2,060

03 &AL E H| 560 560 0
OZAE 280,000& *23| 560
Al 280
- 280

203 ¥ R =&t 200 200 0
Al 100
- 100

03 Al =X H R =X Y| 200 200 0
OAMFAARFEY| 200,000 200
Al 100
- 100

N2 N2 BANES X 26,000 0 26,000
Al 26,000

402 QI2v X2 0| & 24,000 0 24,000
Al 24,000

02 BIZEXI2 AN EX(0IETHH) 24,000 0 24,000

OEMPUAHI(ANBRSTAZ)

24,000,000& =14 24,000
Al 24,000

405 XtabF S| 2,000 0 2,000
Al 2,000

02 & A7 2,000 0 2,000

OSAHTUH (BYHSTMHD)

2,000,000& *14] 2,000
Al 2,000

Aot 2 2HAH| 27,125 23,900 3,225

ANEOHH 22| 2C SHHH|(HAEEHS T AR) 27,125 23,900 3,225

308 XX SHHSO0IA 26,850 23,900 2,950

10 BI2SHUSEAHAE ALY 26,850 23,900 2,950
OENMBHAZ2SHUEAIZEH 26,850,000& 26,850




laFEC N
Bl TA 29I 4
NEotE e B 23|

SH-HH . B(SH) - HBAMY - B2 o A o il 2
403 MR HHS K201 275 0 275
02 3II2SH S =2 2 EF AL B 275 0 275

OEMBEAZ2 S AIE Y 275,000& 275
HHSHAH (ASEHSZAHH) 922,820 784,586 138,234
oleEIH(H =S H2) 837,521 717,907 119,614

I RAH| HEAIY (H4FS T H2) 837,521 717,907 119,614
101 @121 764,731 652,467 112,264
02 JIEt& 2% 542,821 490,872 51,949

OAMZEEHAINHSRE "0H'2 542,821
o JlE=2 2,367,920& x14H x12& 397,811
o SR Y 147, 760& *14H x12& 24,824
o Mz AH| 130,000& *14H x12& 21,840
o XZUIR+Y 8,357 & *30Al 2tx14H x12& 42,120
o HItE AH| 8,140& *1,218Al 2+ 9,915
o IExY 600,000& x12& 7,200
o812 2,793,600& *14H 39,111

03 RIAHAEZZRE 169,402 121,672 47,730

OZ2RAZ2I45E) 43,979
oJlea 1,868,950 x1H »12& 22,428
o0 A2t =& 8,270& x1.5%x30A| 2tx 128 4,466
o=l 130,000& *1H x12& 1,560
o &S0yl 2,242, 7403 2,243
o M= AYI 20,000& x1H x23] 40
o dtgaxY 66, 1602 *1H 13 861
o dz2x¢ 560,680& 561
o ItExxY 20,000& x1H +x12& 240
0o §22F+E 8,0143 xBA| 2t*1.5%243] 2,309
o &3 9,270,550 9,271

OZBRAZ2Z2(95E) 63,417
oJlea 2,025,290 x1H «12& 24,304
o0 A2t 8,961& x1.5x30A| 2tx 128 4,839
o =4l 130,000& *1H x12& 1,560
o & =0yl 2,430,340 2,431
o M= AY| 20,000& *1H x23] 40
o tgaaxY 71,6883 x1H x13 932
o 24 1,620,230& 1,621
o QIS (ALA) 20,000& x1H ~12& 240
o IExE 20,000& x1H x12& 240
0 §¢d2FE 8,685& xBA| 2tx1.5%243] 2,502
o E&=2 24,707 ,955& 24,708

O22z2221(108e) 62,006
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o JIZHMZ22 X 42 E (&s8H) 13,752,000 13,752
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0 JIZHNIZ22 X 402 E (sh=0l)
9,168,000 9,168
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201 Bt A H| 46,079 32,639 13,440
01 AFR2t2l bl 45,539 32,099 13,440
Ogbt=2H| 54,5903 «32Y x12& 20,963
OZ2 &l 8,000& x32Y x84l x12& 24,576
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